) ZEo| fz sac - HIODEN

( EYEUL 2E (FWP)

FLANGE WATER PROTECTION TYPE (FWP)

F PANT=2Y
o 722 £3 ME0l D=3t J UL

2 S 7 ZZELCE

SO TS| S0 G| MRS AE 49158
o, 12, 2| S0 24 4 9l TR0 MHE 91

22 Utk X0t 3A EEDE{Q} EUBH |

FRAME | OUTPUT(KW) | INS DIMENSIONS(mm) BEARING NO.
(| INS. MOTOR BODY P
NO- 1o Tep [ap |C*SS| L o 0 |c | 4 |op|PB |AB |om|oB| N |oK| od | E| x |op2| w| u] 7 |PHIVE |OPPDRIE

208 279 |254 | 16 | 13 | PF%s | 60 |M16xP1.5/28hs| 7
212 (279 |254 | 16 | 13 | PF%s | 60 |M16xP1.5/28hs| 7
234 (279 |254 | 16 | 13 |PF3/a~| 73 | M25x P2 |38hs | 10
234 (279 |254 | 16 | 13 |PF3/a~| 73 | M25x P2 |38hs | 10
265 356 |318 | 20 | 21 |PF3/a~|110|M30 x P3.5|42hs | 12
265 356 |318 | 20 | 21 |PF3/s~|110|M30 * P3.5|42hs | 12
290 356 |318 | 20 | 21 |PF3/s~|110|M30 * P3.5|48hs | 12
290 356 |318 | 20 | 21 |PF%/a~|110|M30 x P3.5|48hs | 12

1128 |22 |15 (0.75
112M |37 |22 |15
132S | 55 (3.7 |22
132M | 7.5 |55 |37
160M | 11 |75 |55

459 1229 (359 [100 | 40 |235
482 1229 (382 [100 | 40 |235
546 (229 | 418 |128 | 48 | 274
586 [229 |458 |128 | 48 | 274
710 (279 | 545 |165 | 65 | 317
160L | 15 | 11 |75 754 279 |589 |165 | 65 |317
180M | 22 |15 | 11 750 (279 |580 |170 | 60 |365
180L | 30 [185] 15 F|795 279 |625 |170 | 60 |365

© 22 3! 72 MBYS JhdS sl 0112810 HEE & USLICL

6207ZZ| 620522
6207ZZ | 620527
620877 | 620622
620827 | 6206ZZ
6309ZZ | 6307ZZ
630922 | 6307ZZ
631277 | 630927
631277 | 630927

|| W |0 |0 |0 T

oo oo oy O[O [On
ol oo | B~
© (© [© |00 ([0 [0 (N [N |+




